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3/(413550-5083)=3.980=>1.010
S S—————E LA L LI | |

3 ‘ e O ! W
" s i e
3 g T A R e
i AL et it
o
?
o b b o AR LU
~ f it
e
i B e e e o o S s
sy : bt Y
4000 5000 6000 8000 1 oodg 800
3<-6.00
bad:406=0.12% A (R) <
u = 0.147(38) x = 1.76(19) => 1.76(19)
rm852 med(mad) A

4000

5000

6000
A ()

-2

f) (10717 erg em™2s7'87")

BLR

& and x

0.2

-0.2

20

10

1.3

1.2

0.9

Continuum Lightcurve

rm852 c5
T T T T T T T T T T T T T T
"
K=
o 133
4
[ 1 n
o
| |
35908 ) 46778 ) 60938 ) 79388 103408 LY
7000 7500 8000 8500 9000
MJD — 2450000
BLR Lightcurve
rm852
Fr— T 1 - T T 1T 14
I " " " 1 " " " " 1 " " " " 1 " " " " 1 " " " " I-
7000 7500 8000 8500 9000
MJD — 2450000
Corrections
rm852
T T T T T 1 T T T T 1
L " " " 1 " " " " 1 " " " " 1 " " " " 1 " " " " I-
7000 7500 8000 8500 9000
MJD — 2450000
4 = 0.28(89) x = 1.166(147) => 1.166(147)
rm852 med(mad)
1.~ 1 " ;" T
. R ]
-Lu n n 1 n n x n n n n n 1 n n n n 1 n n n 11
7000 7500 8000 8500 90Q0, . .
3<-6.00

MJD — 2450000



